E-WASTE

Waknaghat-Dist- Solan

Solan Himachal Pradesh-173234

Bank Receipt Voucher

Run Date: 12-05-2023 CC Code

Voucher No : JUIT2305000165

Voucher Date: 12-05-2023

Cr. Amount

Dr. Amount Rs.

SL Code Remarks

GL Code

1 999

SI

No

080601

CURRENT ACCOUNT WITH PNB - WAKNAGHAT

18,914.00

BEING AMT RECEIVED FROM AUCTION OF LIMITED DESKTOP COMPUTER 09 NO'S

Total

18,914.00

.00

(Rs ONLY)

BRV:JUIT2305000165 Posted By :PANKAJSHARMA on Friday , 12-05-2023

CC Description

GL Description

Authorized By



Waknaghat-Dist- Solan

Solan Himachal Pradesh-173234

Bank Receipt Voucher

Voucher No : JUIT2305000165

Voucher Date: 12-05-2023

CC Code CC Description
GL Code GL Description
SL Code

Dr. Amount Rs. Cr. Amount Rs.

Remarks

Run Date: 12-05-2023

SI

No

999 120305

OTHER MISCELLANEOUS INCOME

18,914.00

BEING AMT RECEIVED FROM AUCTION OF LIMITED DESKTOP COMPUTERS 09 NO'S

Total

.00

18,914.00

(Rs EIGHTEEN THOUSAND NINE HUNDRED FOURTEEN ONLY)

BRV:JUIT2305000165 Posted By :PANKAJSHARMA on Friday , 12-05-2023

Prepared By

Checked By

Authorized By





AUCTION OF OLD DESKTOP COMPUTERS

registrar

to:

juit all

08-05-2023 20:08

Hide Details

From: registrar/Juit To: juit all@juit.ac.in

Dear All

An auction of limited desktop computers (09 Nos) which are in working condition will be carried out on 10 May 2023.

The configuration of these computers is as under

The coming	uration or t	riese computers is as under			
S.No.	Make	ake System configuration			
1	LENOVO	INTEL CORE 2 DUE 2.66GHZ, 2GB RAM, 160GB HDD With CRT monitor KB and Mouse.			
2	LENOVO	INTEL CORE 2 DUE 3.00GHZ, 2GB RAM, 160GB HDD With CRT monitor KB and Mouse.			
3	LENOVO	INTEL CORE 2 DUE 2.66 GHZ, 2GB RAM, 160 GB HDD With CRT monitor KB and Mouse.			
4	LENOVO	INTEL P4 3.00GHZ, 3GB RAM, 80GB HDD With CRT monitor KB and Mouse.			
5	LENOVO	INTEL P4 3.00GHZ, 3GB RAM, 80GB HDD With CRT monitor KB and Mouse.			
6	LENOVO	INTEL P4 3.00GHZ, 3GB RAM, 80GB HDD With CRT monitor KB and Mouse.			
7	LENOVO	INTEL P4 3.00GHZ, 3GB RAM, 80GB HDD With CRT monitor KB and Mouse.			
8	LENOVO	INTEL P4 3.00GHZ, 3GB RAM, 80GB HDD With CRT monitor KB and Mouse.			
9	LENOVO	INTEL P4 3.00GHZ, 3GB RAM, 80GB HDD With CRT monitor KB and Mouse.			

The auction shall take place in the auditorium at 4.30 pm on 10 May 2023 . The computers shall be numbered 1 to 9 and shall be labelled as such. Ser 1 to 3 having better configuration shall have a base price of Rs 2000/- and serial 4 to 9 shall have base price of 1500/- A chit system of draw will be followed for allotment. In other words ser 1 to 3 computers shall have a common bid and serial 4 to 9 shall have a common bid. It shall not be each computer specific.

All personnel interested to take part in the bid can examine the computers which shall be available in auditorium after lunch onwards. Employees in NT 6 to NT 8 category shall get a benefit of 10 percent in the bid amount.

Regards Major General Rakesh Bassi,SM (Retd) Registrar and Dean of Students



(Established by H.P. State Legislature vide Act No. 14 of 2002)

April 19, 2023

E-WASTE - COMPUTERS

- 1. 60 Computers of JUIT have been discarded for disposal as e-waste. Mr. Sanjay Jain has been able to make 15 of these 60 computers operational and has suggested that faculty/staff are interested in buying computers if they are permitted.
- 2. This merits an institutional decision. My view on the proposal are as under:
 - a) Not more than 15 percent computers should be considered for sale to employees as otherwise e-waste shall not be feasible.
 - Auction should be held and draw of lots should be conducted so that no b) particular computer is auctioned to a particular person.
 - C) JUIT Employees in Grade NT-6 to NT-8 should be given 10 percent relaxation in auction bid i.e. their bid should be equated accordingly.
- 3. Put up for your consideration and directions please.

Manyo

Maj Gen Rakesh Bassi, SM (Retd) Registrar & Dean of Students

Vice Chancellor

Sh. Vinsd K Shams Ji

Pl. discuss.

Finance

1 | Page

ONTI LE ONIVERSITT OF INFORMATION TECHNOLOGY

Waknaghat-Dist- Solan

Solan Himachal Pradesh-173234

Bank Receipt Voucher

Voucher No : JUIT2305000927 Run Date: 08-06-2023 Voucher Date: 31-05-2023 SI CC Code CC Description No GL Code SL Code Dr. Amount Cr. Amount GL Description Rs. Rs. Remarks 1 999 080601 CURRENT ACCOUNT WITH PNB - WAKNAGHAT 44,372.00 ISHAN INDUSTRIES 2 999 120305 OTHER MISCELLANEOUS INCOME 44,372.00

AMOUNT RECEIVED FROM ISHAN INDUSTRIES AGAINST E*WASTE DISPOSAL VIDE RTGS NO. IMPS-IN313512792604/ DATE 15.05.



BRV:JUIT2305000927 Posted By :GOVIND on Thursday , 08-06-2023

Prepared By

Checked By

Authorized By

JAYPEE UNIVERSITY OF INFORMATION TECHNOLOGY

Waknaghat-Dist- Solan Solan Himachal Pradesh-173234

Receipt

Registrar's copy

Receipt No.: BRV - JUIT2305000927

Date : 31-05-2023

F eived with thanks a sum of Rs. 44,372 (FOURTY FOUR THOUSAND THREE HUNDRED SEVENTY TWO ONLY) vide , as narrated : Amount Received From Ishan Industries Against E-Waste Disposal Vide Rtgs No. Imps-In313512792604/ Date 15.05.23, Ishan Industries on account of :

OTHER MISCELLANEOUS INCOME

Rs.

44,372.00

For

Authorised Signatory



Annexure 'A' (Scrap Items)

E-Waste Disposal

Truck No.- CH01TB 3192

Dated:-15-05-23

Sr.No.	Discription	A/U	Quantity	Weight (Kg.)	Rate Per Kg.	Amount in ₹	
1	Moniter (TFT)	Nos.	8	20.00	48.00	960.00	
2	Moniter (CRT)	Nos.	40	346.00	48.00	16608.00	
3	CPU	Nos.	48	398.00	48.00	19104.00	
4	Keyboard	Nos.	15	9.00	48.00	432.00	
5	Mouse	Nos.	15	1.00	48.00	48.00	
6	Printer	Nos.	1	27.00	48.00	1296.00	
7	Scanner	Nos.	1	2.00	48.00	96.00	
8	DVD/Redio	Nos.	2	8.00	48.00	384.00	
9	Remote	Nos.	3	0.40	48.00	19.20	
10	Telephone Instruments	Nos.	5	3.00	48.00	144.00	
11	Toner Cartridge	Nos.	220	45.00	48.00	2160.00	
12	Projector Screen	Nos.	17	65.00	48.00	3120.00	
		3.0	Total -	924.40	to the second second second	44371.20	
Δ.	GST @ 18% i.e. Rs. 7986.80, (Rs. Seven Thousand Nine Hundred Eighty Six and Eighty Paisa) Or as per applicable of above						

Material Received by Representative of M/S, Ishan Industries

Mr. Ashwani Garg Adhar No.- 508992988610 Mob. No.- 9855480500

For Ashar

Loji Lumas Sharama Y

Rs. 44, 372 / rewed through online

vide 1Mps-IH/3/35/12792604/99999999//SHAHIN
date 15/5/23 PNBILIAMONT Downel.

Waknaghat-Dist- Solan Solan Himachal Pradesh-173234

Bank Receipt Voucher

un Date: 04-04-2024		Voucher No : JUIT2402000429 Voucher Date : 29-02-2024	
CC Code GL Code SL Code Remarks	CC Description GL Description	Dr. Amount Rs.	Cr. Amount Rs.
999			de a section
080601	CURRENT ACCOUNT WITH PNB - WAKNAGHAT	1,02,898.00	
RECEIVED	FROM ISHAN INDUSTRIES 09-02-2024 IMPS-IN/404019900		
999		0879/9999999999/ISHAN IN	
120305	OTHER MISCELLANEOUS INCOME		1,02,898.00
KECEIVED	FROM ISHAN INDUSTRIES 09-02-2024 IMPS-IN/404019900	879/99999999999/ISHAN IN	1,02,030,00
		tal 1,02,898.00	1,02,898.00
JUI#240200042	9 Posted By :SANJAY on Thursday , 04-04-2024		or Assertance of Section 1
ared BV 1			
14/	Checken by		Appeller of the state of the

Authorized By



E-Waste Disposal

Truck No.: CHO1 TB 5733 Dated: 12-02-2024

Sr. No.	Name of Items	Size/ Part No.	Make	Unit	Qty.	Rate Per Unit (Rs.)	Amount (Rs.)
1	CPU (Old)	A SEA CHUIT SHALL	NAME OF THE PARTY	Nos.	99	620.00	61380.0
2	CRT Monitor (Old)		7812 1 3150	Nos.	86	210.00	18060.00
3	TFT Monitor (Old)			Nos.	16	115.00	1840.0
4	Battery-7AH (Old)		AL TH	Nos.	28	145.00	4060.0
5	Keyboard (Old)			Nos.	65	10.00	650.0
6	Mouse (Old)			Nos.	55	2.00	110.0
7	Printer (Old)	1020	H.P.	Nos.	1	250.00	250.0
8	Photo Copy M/C (Old)			Nos.	1	1300.00	1300.0
9	Toner (Old & Used)		4 28 4 9 29	Nos.	120	5.00	600.0
10	Gear of Otis Lift Un Complete (Old)			Nos.	1	130.00	
11	Elect. Motor of Lift (Old)	15 Kw.	AND THE RESERVE OF THE PERSON	Nos.	1	5500.00	130.0
12	VFD Pannel Controller Un Complete (Old)			Nos.	1		5500.0
13	Fax M/C (Old)	2820			10000	1100.00	1100.0
14	T,V, (Old)	21"	Samsung	Nos.	1	160.00	160.0
15	Energy Meter (Old)	5-20,	Charles Standard Little Colonia	Nos.	1	350.00	350.0
16	Telephone Set (Old)	3-20,	Nova	Nos.	2	45.00	90.0
17	DOL Starter (Old)		7 1 A 1 A 1	Nos.	9	20.00	180.0
18	Change Over Switch (Kit Kat Type) (Old)	62 0		Nos.	2	30.00	60.0
19	LED Surface Light (Un complete) (Old)	63 amp.		Nos,	3	155,00	465.0
20	Wash Room Light (Old)	12 wt.		Nos.	4	10.00	40.0
21	Aquaguard (Old)	2'		Nos.	59	10.00	590.0
22	LED Street Light (Old)			Nos.	13	70.00	910.0
23	Gyser (Old)	50 wt.	Jilco	Nos.	5	35.00	175.0
24	Gyser (Old)	35 ltr.	Recold	Nos.	2	180.00	360.00
25	Gyser (Old)	25/35 ltr.		Nos.	3	180.00	540.00
-	Exhaust Fan (Steel Body) (Old)	50 ltr.		Nos.	2	180.00	360.00
27	MCB isolator D/P (Old)			Nos.	1	40.00	40.00
28	LED Bulb S/T (Old)	63 amp.		Nos.	129	7.00	903,00
29	LED Tube Light Rod with fitting (Old)	5 wt.		Nos.	30	5.00	150.00
30	Frame M/C for Speed Post (Old)	10 wt.		Nos.	11	15.00	165.00
31	Water Cooler (Old)			Nos.	1	30.00	30.00
32	T.V. (Old)	80 Ltr.		Nos.	1	2000.00	2000.00
74		21"	Samsung	Nos.	1	350.00	350.00
	Total	No of Unit	754	Amount Rs.	102898.00		

GST@ 18% i.e. Rs. 18522.00 (Rupees Eighteen Thousand Five Hundred Twenty Two Only) Or as per applicable of above said Amount, which will be paid by M/S. ISHAN INDUSTRIES, Situated at Khasra No. 494/1, Village -Phafunda, Opposite Mayur Industries, Hapur Road, Meerut, Uttar Pradesh, 250002, to the concern Authorities & receipt of above said amount will be provide to Jaypee University of Information Technology Waknaghat, P.O. Waknaghat, Tehsil Kandaghat, Distt. Solan (H.P.) by M/S. ISHAN INDUSTRIES.

All Items are Old & Used (Scrap Items) which are to be Recycling by M/S, ISHAN INDUSTRIES & will issue a certificate of destruction for all the E-Waste collected, within 20 days from the date of Material receipt.

Material Received by Representative of M/S. ISHAN INDUSTRIES

Adhar No. 508992988610 / Mobile No. +91-9855480500

MANISH KUMAR(S)G,

Finance





JATPEE UNIVERSITY OF INFURMATION LEGINGLOST

(Established by H.P. State Legislature vide Act No. 14 of 2002) P.O. Waknaghat, Teh. Kandaghat, Distt. Solan - 173234 (H.P.) INDIA

Website: www.juit.ac.in

Phone No. +91-01792-257999 (30 Lines)

Fax: +91-01792-245362

TO WHOMSOEVER IT MAY CONCERN

Date: 12/02/2024

It is Certified that the material loaded in Truck No. CH01 TB 5733 are going to M/S. ISHAN INDUSTRIES Situated at Khasra No. 494/1, Village - Phafunda, Opposite Mayur Industries, Hapur Road, Meerut, (Uttar Pradesh) 250002, for E-Disposal of Electronic waste. The Number of items & Value has been mentioned as per Annexure "A", The GST will be paid to Concern Authorities by M/S. ISHAN INDUSTRIES whose GST No. is 09GEVPS9557F1ZA.

For Jaypee University of Information Technology

(Authorised Signatory)

To,

8n. Govino reash ry

of Inform

Finance

THOMM